7}‘%"1 %jku:

(A= AR

DR RN Y
Bk 500451 B g B B
RN 8
5% ¢ 04-723210545435

1 04-7244794
5 45 : shihchin@cc. ncue. edu. tw

44 Yok

BE
i

Feppor? FARINE3? 18P

F2FE R F % 110050006555

AL I ST

%,‘tﬁﬁ’ep [ E 2SR

it de (A095K0000Q110050006500-1. odt ~ A095K0000Q110050006500-2. odt ~
A095K0000Q110050006500-3. odt ~ A095K0000Q110050006500-4. odt -
A095K0000Q110050006500-5. odt ~ A095K0000Q110050006500-6. odt -
A095K0000Q110050006500-7. odt)

DR E A RGES B R kv T F &MNoocs kA
2 HE o A o4 TRRPH A R HESF
$4 0 HBTE -

B
— vl ARHEBAIKCEY 22 2B ERs BRSNS -
Yorfe FRERTZ 977 8 Bl » B3 K
R ge B B R R ®MNoocs kAR Y

TR AR T R A Y - 3
S W W%RMmsWﬁﬁzwﬁﬂﬁi&%%~yAg

LRI BEEFFOA RS FEFE RS L AL AU

R HTSTEE B Y B R RITE 8

o kAR e

=i EHE
(- DEHERF 7 AR CILEF ~ B RET AL EF AP M
AETAEE R A 2 AR E W A iE A

——

110/03/18 12:08

¥1 7 % 2F



w B ool w3 . o

- o .o ab. Wﬁ?%ﬂm;@m&. ro R = B
: e % T 3 R T v E.
Auge X e 2 Wb o B
= 3 = RS A
a el N - &8 § HoE L B
S - = B o= Cae o B
m ﬁ g fh - a\ﬂémﬂ a@%
i i 3 B o = o oo B o« SR R = &M%«
EL_% .mr Al -+ /l# W W B wboge +ﬂmk b ot
- &/ el AT R B o X ow o o dh B ﬁ
> - o o @ 2 ®boqe 0wt - @vlq«zr -
e < 5 o &1 A4 .- oW - B o 8
= - ST . Sl 2osfl - Wb oo B oen oy B
2 ~ \ o et o b oo B wn SR SR B
M g . o~ = owbh .ﬂwm. = f b = o B ol SRR - T
%F =~ ~ o) 5 Bl ¥ E_ ¥ B b3 o 4 B %
NE. Yot 4t mmhp - ,“._,._*F -+ - Bb o B ,xr ﬂ, S al
n " . u@f@. P ‘F\m ’ g
2 uwn\ iy y.m.«lJ o— 4@@/ B I.L ,al,xrwx : I Mu_ @TW &
e ol os WL o C ool o fe o Bb Y
S ° m we s o= o B o B B o W R
Ny BT T e g 3G o Wb oo B W
\— .Y R : 0 < LO ,%I:\ b o B\W_.QPM.«.MWJ <
. < L - 2w
S R o T i% B 3 .wk i% %y\ % \A@Taiﬁémmmr\?\
/\MNW ELW ‘@m .Ln— AMN/// .Mq_u__n.” o MI. Nr‘r % woho 3\ mif .w...«.‘l..qﬂm #Lmﬁ.. m
: _ il P 3 4 SNWXPH W#E. I N
W,M Row e wOFE Mm o B b XE W o B o B e
=R | Y P = 3 o b e s R - W;P
& W g ¥ s B Bl o AT B WS
QL At . . . e K D BRI w T BN
R .mmc i S Lo .mmc K AR W_ + Lﬁﬁ , @TJR«W;P@%&V/
e w m i m.,M - absb Al 1w ¥ %Ja\ﬂzr%@‘@w\
ki I ) B R < ,gﬁ..l‘qmﬁxr T o Wb K
NETTI s Wy = 0 o B ) B
N4 N Id Id Id Id Id
Bl Fef Ko A " +

e =3




